MCMB 1B & dit#

A

RRRBREL mindman
LEHCH / ETHEFCAR T
T | |
B RAELIRE b ElER RELRE
R
af I T | w8 | @R |sos LRI, T
e[ Tl= | cA @H{EEB TA Y-P | Caoam | Y&
af[ [B=| cB @EEEEEU 8 cB-P | 57 |casceumE
%EEB FA | =T (11| v SDB-P| ([—1 |SDB/fiEH
oit] | Fe | e ID | *P: A1 /1B
il B 2 A E A -
W {BRkER A
{HKZS - RCM L
RIS A BM* 2
(o}
. |a|lB|c|D|E
20 22 | 34 |10 | 16 | 28
25 | 25|40 | 10| 16 | 28 < . R
32 |28 46| 10|16 |28| | _ R | T A |
40 |32 |54 | 10| 16 | 28 —H
W EHER
EVAREER s Hifi: g
. HAER EAER HAER 7% 25 mm AR 1712 25 mm
I MCMB-11 MCMB-11-N MCMB-11-E MCMB-11 MCMB-11-A MCMB-11-A
220 146 146 18 144 20
025 232 232 28 252 26
232 275 275 38 340 38
240 568 568 50 565 51
AoffE &
L LB CA CB FA/FB SDB TAITB Y | g | AERUIRE | R
e | JL (OO0 I56 AN O | = | = | =
220 122 53 49 66 62 37 53 63 13 4 19
025 129 63 69 73 62 47 49 62 13 8 23
232 129 63 69 73 140 47 49 62 13 8 23
240 207 162 168 124 140 94 230 164 43 16 50

M mindman



MCMB Z#ntE

AR SR EL

M

mindman

. gESEA E LR ER -
*2. @20 PE Ryl -

*3.Y $5UH 040 ME RS -

M mindman

No. LE ME HX No. L =1 HX
1 | LB &Lt s 3-23 9 | MFC JZ#8)aE s 8-2
2 | FAIFB L85 TisH 3-24 10 | MFCS F@h#08 s 8-5
3 | CA+PIN Z2Eif: Tish 3-23,26 11 | PHS fHRETE s 8-6
4 | CB+PIN ZZ4&fiift: s 3-23, 26 12 | RCM+BM** {djss + Sty - 8-16
5 | TA/TB Ze8&i 8 2 3-25 13 | PC &I (PISCO) - 8-3 ()
6 | SDB+PIN ZZ4EFRf: (*1) s 3-24, 26 14 | JSC F#2% (PISCO) = 8-15 (i)
7 | Y+PIN $UER s 1§58 "3 | 3-26
8 | I+PIN HZUAERM: Tk 3-26




MCMB %%t — B% 020~040

Y2 = = -
RIRERREL mindman
H
MM ‘
:ﬂ h:L :
AL 4-9LD 5
; | I IOl | |
Bl X X Y 2-gLC
z LS+ 1712 LX
77+ 15%2 Lz
&% JAL| B | H |[LC|LD|LH|Ls|LT|LX|LZz| MM | X |Y |z |zz
20 15.5| 40 | 41 4 (6.8 |25 (102|3.2| 40 | 55 | M8x1.25 20 8121|131
25 19.5| 47 | 45| 4 (6.8 | 28 [102| 3.2 | 40 | 55 | M10x1.25| 20 8| 25 |135
32 195|147 | 45| 4 (6.8 | 28 [104|3.2| 40 | 55 | M10x1.25| 20 8| 25 | 137
40 |21 54 | 50| 4 |7 30 |134( 3.2 | 55 | 75 | M14x1.5 23 | 10 | 27 (171
-0.1
-0.2
" @CD 5 X
AL U |RR
I
2Z+ {712 ONA
f% _'AL|cD|cx| MM |NA[RR| U |zz
R
20 15.5| 9| 10 [ M8x1.25 (24 9| 14 (142
25 (195 9| 10 [ M10x1.25 |30 9| 14 (146
32 195 9| 10 |M10x1.25(34.5| 9 | 14 148
40 21 10 | 15 | M14x1.5 |42.5| 11 | 18 | 188
CL
aCD 0 cz
MM
f { m ijg \H
{ Zd h | ) 7
+0.2
AL U RR cx*o1
I 1
77+ ik ONA
2 |aL|cp|cL|cx|cz| Mm [NA|RR| U |zz
20 15.5| 9 |25 10 | 19 | M8x1.25 |24 9| 14 (142
25 19.5| 9 |25 10 | 19 | M10%1.25 |30 9| 14 [ 146
32 19.5| 9 |25 10 | 19 | M10x1.25|34.5| 9 | 14 | 148
40 |21 10 |41.2| 15 | 30 | M14x1.5 |42.5| 11 | 18 | 188

M mindman




MCMB %%t — B% 020~040

Y2 = = -
R FBREL mindman
220~232
- [ -
O @@ of = e =
/
2-gFD
FX AL
FZ z FT
T
2z+ 1714
2 |AL| B |FD|FT|FX|FY|FZ| Mm |z |zz
20 |155|34 | 7 | 4 |60 | — | 75 |M8x1.25 | 37 | 116
25 |195| 40| 7 [ 4 |60 | — | 75 |M10x1.25| 41 | 120
32 (195(40 | 7 | 4 |60 | — | 75 [M10x1.25| 41 122
40 |21 52 | 7 | 5 | 66 | 36 | 82 [M14x1.5 | 45 | 154
FX
4-gFD -
2:0FD 220~232
s I ,
w 8 ) of-
AJ el FX
Z+ 1712 Fz
22+ 1712
4-gFD Q40
i .
Bt |AL| B |[FD|FT|FX|FY|FZ| MM |z |zz 2 O
20 (155|34 | 7 | 4 |60 | — | 75 |M8x1.25 (107|116
25 |195|/40 | 7 | 4 [ 60| — | 75 |M10x1.25| 111 | 120 i|m
32 |195|40 | 7 | 4 |60 | — | 75 [M10x1.25[ 113 [ 122 /
40 (21 52 | 7 | 5 | 66 | 36 | 82 | M14x1.5 |143|154 \@ @)
FX
FZ
LZ+ 17f2
Z+ 1712 LP
AL
= et = 8
M | 3 e o i
? ﬂ P -X§ﬁ% I -
MM — =
T
2-gLD -
‘ L LF LG | H Lv
LY
I
B |AL|cD|LD|LF|LG|LH|LP|LT|LV|LY|[LZ| MM [N |Z
20 |155| 8 |6.8 | 15| 30 | 30 | 37 (3.2 [18.4| 59 | 152 | M8x1.25 |15 |115
25 |195| 8 6.8 | 15| 30 | 30 | 37 3.2 (18.4| 59 | 156 | M10x1.25|15 | 119
32 |19.5| 10 |9 15|40 | 40 | 50 |4 |28 | 75 |174|M10x1.25|15 |124
40 |21 10 |9 15|40 | 40 | 50 |4 (28 | 75 |203|M14x1.5 |21.5(153

M mindman



MCMB %%t — B% 020~040

EIREEREL mindman

TT
oTY
[}
&
S WL m Fiﬁﬁ
ML
3 A\
A/
L J
X AL
TZ V4
H
ZZ+ {778
B Ja[w] mm [mo[tr|[x[1v[12] 2 [22
20 |155| 41 |M8x125 | 8| 10 | 32 |3255] 52 [36 | 116
25 [19.5| 45 [M10x1.25| 9 | 10 | 40 |40.5| 60 |40 |120
32 [195| 45 [M10x1.25| 9 | 10 | 40 |40.5| 60 |40 |122
40 |21 | 50 |M14x15 | 10 | 11 | 53 |53.5] 77 |44.5] 154
TT
oTY
MM
/T mt E
T ‘ =
[
= | fa)
%_Lhi | U
.
AL
L X
Z+ 1718
77+ 1712 12

B2 |aL| mm |to|TT|TX|TY|TZ| Z |ZZ
20 |15.5|M8x1.25 8 | 10 | 32 [32.5| 52 [108 | 118
25 [19.5|M10x1.25| 9 | 10 | 40 (40.5| 60 (112 |122
32 |19.5|M10x1.25| 9 | 10 | 40 [40.5| 60 |114 |124
40 |21 |M14x15 | 10 | 11 | 53 [53.5( 77 (143.5| 154

M mindman



MCMB %20k 020~040

N P—ll == -
KRR FBREL mindman
Y &858 1 3358
220~332 240
oND 183 MM oND o1 = MM MM
aND13'31
(T (1T . —a g
SCiE—— R F T ]
— R — |
U1 ‘ A1 U1 Al U1 ! At
|
L1 L1 L1
A A A
2| A |a1|E1|E2|L1| Mm [ND| NX [NZ|U1 2| Aa|Aa1|E1|E2|L1| MM [ND| NX [U1
20 |46 | 16 |020|016| 36 |[M8x1.25 | 9| 9132 | 18 | 14 20 |46 |16 [020|016| 36 |M8x1.25 | 9| 9131 | 14
25,32 46 | 16 |020| 016 36 [M10x125| 9| 9132 | 18 | 14 25,32 46 | 16 [020|o16| 36 [M10x125| 9 | 931 | 14
40 |68 |25 |026|024| 55 [M14x15 | 12 [16 132 | 38 | 25 40 |69 |22 |o24| — | 55 [M14x15 | 12 [16 131 | 20
2-C0.5 E -
\l" (SIS
1 P gle
220~232
c B c
A
2-C0.5 E . 2-C0.5 2-pd
/‘ﬁ(/ Jany
= o B o] s
240 c B c
c B c A
A
SDB AU i ke CB MU & Y 1Y HZHHw F s
Rk uE
mig\|A|B|C|oD”| od | E $ER ;ﬁ% AlB|C|oD®| od | E %ﬂﬁﬁ
~ -0.04 0 +0.10 . b
ig 4212 21'5 ;2'5 22 180 o ;2:2-"6 10'195@_14 zxz 20~32-CB, Y |25 [19.2|29| 9:3%(8.6 50s[1.15'0" STW-9
_ e L = 40-CB 412[332[4 [103%| 3.2 — |e32x20
40-Y 497(41.7|14 [1235%] 3.2 — | @3.2x20 &

M mindman




	1_規格
	2_訂購代號&重量表
	3_內部構造及主要零件─墊片緩衝型
	4_內部構造及主要零件─可調緩衝型
	5_安裝配件
	6_外觀尺寸─複動型  ø20~ø40
	7_外觀尺寸─單動型  ø20~ø40
	8_外觀尺寸─複動型  ø20~ø40
	9_安裝配件─複動型  ø20~ø40
	10_安裝配件─複動型  ø20~ø40
	11_安裝配件─複動型  ø20~ø40
	12_安裝配件  ø20~ø40



